Mrs. Gregory & Mrs. Postlethwuite's group —

7a. Complete the calculation below. How
many different solutions can you find?

03[ ]+0.4[]+02[]=1
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7b. Complete the calculation below. How
many different solutions can you find?

of[]s+0.[J1+0[]a=1
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8a. Owen says:

If | have 0.24
and 0.35, | need
to add on 0.51
to make a
whole.

Is Owen correct? Explain why.

8b. Asha say:

If | have 1.42
and 0.26, | need
fo add on 0.31
to make 2.

Is Asha correct? Explain why.

9a. A bag of flour weighs 1kg.
Each bowl needs 0.29kg of flour.

Is there enough flour to fill 3 bowls?
How much flour will be left over?

1kg
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0.29kg

9b. Rob has £2 to spend.
Each pack of sweets costs £0.56
Can Rob buy 3 packs of sweets?

How much money will he have left?

£0.56
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